

Solution for exercise 6.1.2 in Karlin and Pinsky

From Chapter 6.1 we know

$$P_n(t) = \prod_{i=0}^{n-1} \lambda_i \left[\sum_{k=0}^n B_{k,n} e^{\lambda_k t} \right]$$

$$B_{k,n} = \frac{1}{\prod_{i=0, i \neq k}^n (\lambda_i - \lambda_k)}$$

and with $\lambda_k = \alpha + k\beta$ we obtain

$$\begin{aligned} B_{k,n} &= \frac{(-1)^k}{\beta^n (n-k)! k!} \\ \Rightarrow P_n(t) &= \prod_{i=0}^{n-1} (\alpha + i \cdot \beta) \cdot \sum_{k=0}^n \frac{(-1)^k}{\beta^n (n-k)! k!} \cdot e^{-(\alpha+k\beta)t} \\ &= \prod_{i=0}^{n-1} (\alpha + i \cdot \beta) \cdot e^{-\alpha t} \beta^{-n} \sum_{k=0}^n \frac{(-1)^k}{(n-k)! k!} \cdot e^{-k\beta t} \\ &= \prod_{i=0}^{n-1} (\alpha + i \cdot \beta) \cdot e^{-\alpha t} \beta^{-n} \cdot \frac{1}{n!} \sum_{k=0}^n \frac{n!}{(n-k)! k!} \cdot (-e^{-\beta t})^k \\ &= \prod_{i=0}^{n-1} (\alpha + i \cdot \beta) \cdot e^{-\alpha t} \beta^{-n} \cdot \frac{1}{n!} (1 - e^{-\beta t})^n \\ &= \frac{\beta^n \Gamma(n + \frac{\alpha}{\beta})}{\Gamma(\frac{\alpha}{\beta})} \cdot e^{-\alpha t} \beta^{-n} \cdot \frac{1}{n!} (1 - e^{-\beta t})^n \\ &= \frac{\Gamma(n + \frac{\alpha}{\beta})}{\Gamma(\frac{\alpha}{\beta}) n!} \cdot e^{-\alpha t} (1 - e^{-\beta t})^n \end{aligned}$$

If we choose $\alpha = \beta$ we obtain the same result as in a yule process up to $n + 1$ individuals by reproduction.

Instead of the Gamma function we could as well use generalized binomial coefficients.